Logs Revision and Answers worksheet (not past papers)

Rewrite each of these statements as a logarithm.

(1) 10° =1000 (ii) 27=128
1
(i) 10° =310 Gv) 27 =%
L £l J77
(v) 52=— (vi 32 =4/27
7 )
Find the values of the following:
(1) log, 16 (i)  log, 1000000
(
(i) log,1 (v) log, l)
4
(1
v)  log.\/5 (vi) log, —)
\ 27
(1
(vi)) log, 4 (viii) log, —]
V32
Find the value of x in each of the following:
(1) log, x=-5 (i1) log, x =73
. 1 1
iii log 64=2 v log | &= |==
(i) log, (iv) g,[ ﬁJ )
Write the following as a single logarithm:
(1) log2 +1log3 (i) logl0—1log2
(1i1)) 3log5s (iv) 2log3-4log2
(v) 1log3-+log4 (vi) 2loga+5logb-3logc
Write the following in terms of log 2 and log 3:
16
i log 12 i log | —
(1) g (ii) g (27J
(i) log/54 (iv) 1og£

Solve the following equations:
(1) 2" =18 (i) 5°=100
(i) 1.5 =0.001 (iv) 10°=2
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1. () 10*=1000 = log,,1000=3
(if) 27 =122 =lpg,128=#
(i) 10 =¥10 =log, ¥10=1

(iv) 2%=% =log,3=-23

M) 3* =27 =lg, 27 =2
2 () x=lg,16 =2"=16 = x=4
so log, 16 =4

(i) x=log,, 1000000 => 10" =1000000 = x=6&
so log,, 1000000 = &

(i) x=lg,1 =6&"=1 = x=0
so log,1=0

P
Il
[

=

L
4

so log, (%)= -1

(iv) x=Log,[ ] =4"=% =

1
log,| — |=-
$0 9’(2 ) )
M) x=log,4 =g =4 =2¥=2 =>x=%

so loge 4 =3
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(Viil) x = log, (ﬁ] =>2f=—"——=

= “’%[F)

(@) lgax=-5 =22°=x =Dx=%
) lo,x=2 =3=x = x=.27

(iit) g, e4=2 = x*=64 =>x=8

(iv) log,(%):{;— = xi=

. () log2+logz=log(2x3)=loge
” 10

(i) logio—log:z=tog?=to95
(iii) =logs =log5* = log125

2
(iv) 2log3-4log2 =logs® -log2* = Logz—4 =log o

V) %log=z-*ilog4=logz? —log4* = Log =log /2

2S5
(Vi) 2loga+5logb-3loge =loga® +logb® —loge® —l.og b

. () log12 =log (2% x 3) =log2® +log3 = 2log2 + log=

(L) Lo [16] Lo [£)=lo 2* —log3* = 4log2 - =log=
9 2 9 e 9 9 9 9

(@) logV5# =log(2x 3*)! =log2? +1log3? = 2log2 + 2log3

(iv) wgg = logz—: =logz? —log2* = £logz - 4log2
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6. () 2"=12
log2” =log18
xlog2 =log1g
= log1g
log2

=4.1% (3s.f.)

() 5% =100
log5”* =log100
xlogs = log100
x= log 100

=2.8 T
10g5 2.26 (3s.f)

(1) 1.5% =o0.001
log1.5% =logo.001
xlog1.5 = logo.001

_lego.oo1

=—-1#.0 T
ogis 7 zst)

(v) 10 =2
log10”* =log2
xlog10 =log2

log2

X= Log—j_o= 0.201 (B S.f.)



